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Solvtion Exercise 1
CPcab\Qm 2
al A« (Bx2) - E(XZ) - (&)

Looking at the /'t Componest of Fbe
rec 6v mﬁ Vfc/dr and 361/2’

"‘{,‘k Aj (3" C_f’)k

= Ei"k- _AJ'Ekzm B( C”?

3

E'."jé_gklm AJ B—C Cb?

" Ckji Eaem AjBCm
(&5 &im = &, 8, ) A:B,Coy
- A8 G + A B C

= B AiC; - <€ A;B;

= B/ (AT)-C (A F)

i

Since /ﬁr's 60/0/5 zc:ar‘ an/ /'=/,2,3
we have proved gliven refe ~on,




4 V- (VxA) =0
Oi (VxF); = O €y 69.;/4.:
i gfjk é,d‘/ﬁk

= 0

| This followe from F4e tact that gf,‘//e/_s_
ant - 5/#/4/{.’/{7'6‘ ‘0 7 qrd J!, wh & d,cj
IS 5)//’7076/"1t ) 7%«: SG7E /ﬂdfcds
This' is in fact a general resulf  tha/

| the /aroa/ac/ pa F Q S /MM/?/'C arnd as;
| anti-Sympetec fensor aqual zero.
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gl Wx(vy) =0

ffﬂ: CQJ C)k(” allll ©.
Aoain we fave o _;)Qr-c_ad-acf of a 5_)//97.

and an+t'_-'5/m. ‘ensor that is zero
for the same reason as vnder pPoink bf

d| VsW«A) = V(pA) - 027
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